General Anatomy - Mock Exam:

1. Which one of the following is an irregular bone?

A) Scapula

B) Vertebra

C) Patella

D) Humerus

E) Calcaneus

Answer: B

2. Which one of the following is supplied by facial nerve?
A) Anterior belly of digastric

B) Posterior belly of digastric

C) Mylohyoid

D) Geniohyoid

E) Sternomastoid

Answer: B

3. After a car accident, a patient was unable to extend his hip joint. Which muscle is most probably
affected?

A) Gluteus medius

B) Quadratus femoris

C) Gracilis

D) Gluteus maximus

E) Obturator internus

Answer: D

4. As regards the masseter muscle, which of the following is INCORRECT?

A) Is supplied by mandibular branch of trigeminal nerve
B) It retracts the protruded mandible

C) It elevates the mandible

D) Isinserted in the mandible

E) It acts on temporo-mandibular joint

Answer: B




5. The pterygoid process is a part of:

A) Occipital bone

B) Frontal bone

C) Sphenoid bone

D) Temporal bone

E) Parietal bone

Answer: C

6. The anterior structure is the structure that lies:
A) Closer to the upper end of the body

B) Closer to the lower end of the body

C) Closer to the front of the body

D) Closer to the back of the body

E) Closer to the median plane of the body
Answer: C

7. Which of the following is a multipennate muscle?
A) Deltoid

B) Palmar interosseii

C) Dorsal interosseii

D) Rectus femoris

E) Quadratus femoris

Answer: A

8. The foramen trasversarium is present in:
A) Sacral vertebrae

B) Thoracic vertebrae

C) Cervical vertebrae

D) Lumbar vertebrae

E) Coccygeal vertebrae

Answer: C




9. Supination is done by:
A) Brachialis

B) Triceps brachii

C) Biceps brachii

D) Pronator teres

E) Supraspinatus
Answer: C

10. Cross leg position is done by:
A) Gracilis

B) Sartorius

C) Semitendinosus

D) Soleus

E) Plantaris

Answer: B
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